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1.

(a)What is the law of demand? [2 credjt poinis] (B) Given the law of demand,
what is the shape of the demand curve? [2 credit points] (c) Provide three

different reasons to explain the shape of the demand curve. #12 credit points]

{a) What is an externality? [6 credit poinis] (b) Explain the relationship between

a negative externality and the allocational efficiency of resources. {10 credit
poinis]

In a closed economy Z, the beef-noodle is a popular meal. 1t has two input

ingredients, beef and noodle.  One day (maybe due to the work condition issue)

the noodle workers decide to have a week-long strike (it means they do not goto

work for one week).  However, this planned strike has caused the protest from

the beef workers who do not have any work condition problem. Explain why?

You can use demand and supply graphs to facilitate your explanation. [16 credit
points]
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1. Which of the following statements are correct concerning taxes and leasing?
I. Tax-deferral is a legitimate reason for leasing,
I1. The lessor should be the party with the higher tax bracket.
H1. Leases should increase the tota] taxes paid.
IV, If a firm has significant net operating losses, they should be the lessor in a lease.

A. T'and II1 only
B. 1 and IV only
C. Land [1 only
D. [T and 11T only
E. 1T and IV only

2. Which of the following statements concerning acquisitions are correct?
I. Being acquired by another firm is an effective method of replacing senior management.
I1. The net present value of an acquisition should have no bearing on whether or not the acquisition occurs,
IIl. Acquisitions are often relatively complex from an accounting and tax point of view.
1V. The value of a strategic fit is easy to estimate using discounted cash flow analysis.

A, Tand ITT only

B. 1l and 1V only

C. Land TV only

D. 1, I, and IV only
E. L IL I, and 1V

3. Which of the following statements are correct?
I Vega measures the sensitivity of an option’s value to the passage of time,
{l. Theta measures the sensitivity of an option's value to the passage of time,
HL Cal} options tend to be more sensitive to the passage of time than are put options,
IV. An increase in time increases the value of a call option,

A. Tand 11! only

B. Il and IV only

C. 1, 111, and IV only
D. 1, 11, and IV only
E. L I, 101, and IV

4. Aninterest rate swap:
L. should be beneficial to both parties to the contract,
(1. is oflten used in conjunction with a currency swap.
1L is theoretically appealing but rarely used in actual practice.
I'V. Can be used to change the index which underlies the variable rate on a firm's debt.

A, I and [{ only

B. I and I'V only

C. I, IL and 1V only
D. I, 111, and IV only
E. LIL I, and IV

5. Which one of the following is an argurnent in favor of a low dividend policy?

Al the tax on capital gains is deferred unti] the gain is realized

B. few, if any, positive net present value projects are available to the firm

C. a prepanderance of stockholders have minimal taxable income

D. a majority of stockholders have other investment opportunities that offer higher rewards with similar
risk characteristics

E. corporate tax rates exceed personal tax rates

6. The static theory of capital siructure supports the theory that value-maximizing managers will:

A, look to the asset side of the balance sheet to increase firm value since the mix of debt and equity
selected is unlikely to affect firm value.
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B. not concern themselves with the capital structure of the firm as it is an irrelevant issue.

C. select the capital structure for which the cost associated with the probability of financial distress
equals the benefit of the interest tax shield.

D. select an all equity capital structure to ensure the value of the firm is maximized,

E. select the capital structure which maximizes the interest tax shield.

7. Arguments that have been presented to support IPO underpricing include:
L. counteracting the "winner's curse”,
IL rewarding institutional investors for sharing their opinion of a stock's market value.
{[1. diminishing the risk to the underwriter who has agreed to a firm commitment underwriting,
V. diminishing the odds that investors will sue investment bariks.

A. ['and Il only

B. 1T and IV only
C. [ and H only

D. I, 11, and II1 only
E. L, M, and IV

8. The weighted average cost of capital for a firm is dependent upon the firm's:
[. tax rate.

IL. debt-equity ratio,
I1I. coupon rate on the preferred stock.
, IV. level of risk.

Al I and 11} only

B. IT'and TV only
i C. L 11, and IV only
: D. i, 1T, and IV only
! L. L1, I, and IV

9. Which of the following statements are correct concerning employee stock options (ESOs)?
: L. ESOs grant the employee the right to buy company stock at a fixed price.
! 1l. ESOs generally have a shorter life than call options.
p 'L Employees may lose their ESOs if they leave their job.
i IV. ESOs are sometimes used as a substitute for cash wages.

A. I and I onty

I B. Il and 1V only

! C. 1, I, and IV only
D. I, 111, and IV only
E. L 1L, 1, and 1V

Which of the following statements is correct concerning the beta of a portfolio?
L. Portfolio betas will always be greater than 1.0.

IL. A porifolio beta is a weighted average of the betas of the individual securities contained in the portfolio.
HI. A portiolio of U.8. Treasury bilis will have a beta equal to minus one,

[V. If the portfolio beta is greater than one then the portfolio has more risk than the overall market.

A, land [l only

] B. [T and IV only

C. i, 11, and I only
D. 11, 111, and [V only
L. I, II, and IV only

I'1. Which of the following statements is correct concerning the financial break-
1. The present value of the cash inflows equals the amount of the initial inve
IL. The payback period of the project is equal to the life of the project.
! [Hl. The operating cash flow is at a level that produces a net present vatue of zero.
IV. The project never pays back on a discounted basis.

I A, [and Il only
B. I and 11T only

10.

e

even point of a project?
stment.
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C. Tand IV only
D. [T and TV only
E. L, 111, and TV only

12, Which of the following methods of project analysis are biased towards short-term projecis?
L. internal rate of return

[. accounting rate of return
HI. payback
IV. discounted payback

A, [ and I only
: B. 11l and IV only
I C. Mand HI only
i D. Fand IV only
i E, IEand IV only

13. Which of the following statements are correct concerning the term structure of interest rates?
I. The outlock for fitture inflation influences the shape of the term structure of interest rates.
II. The term structure of interest rates includes only the real rate of return and the inflation premium,
{li. The interest rate risk premium is included in the term structgre of interest rates,
IV. The term structure of interest rates can be downsloping,

A Land II only

B il and 1V only

C. [l and IV only

D LTI, and 1V only
E L 1L, and IV only

14. You are comparing two mutually exclusive projects. The crossover point is 9 percent. You determine that you should
accept project A if the required return is 6 percent. This implies that you shoyld:
L. reject project B ifthe required return is 6 perceni.
tL. always accept project A and abways reject project B,
Iil, always reject project A any time the discount rate is greater than 9 percent,
LV. accept project A any time the discount rate is less than 9 percent.
Al 1 and IT only
B. It and IV only
C. L 1IL, and IV only
| D. I, I, and TV only
E. LIL T, and [V

15. The three parts of the Du Pont identity can be generally described as:
; l. operating efficiency, asset use efficiency and firm profitability,
) II. financial leverage, operating efficiency and asset use efficiency.
: 111. the equity multiplier, the profit margin and the totai asset turnover.
[V. the debt-equity ratio, the capital intensity ratio and the profit margin.

\ A. Tand Il only

| B. Il and I11 only
y C.  TandIV only

! D. Tand I1l only
E. 11 and IV only
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During wage negotiations, the management of 5 large textile manufacturer advanced. the chE_lll_nﬂ;
that 50 percent of the waorkers in the industry earn more than $15,000 a year. The union clai
that this estimate s wrong and that the correct proportion is 30 percent,

A random sample of 100 workers in the industry was taken, The sample showed that 40
pereent of the warkers earned less than $15,000.

{2} Test the null hypothesis un
0.30. Use o = 0.05.
{B) Calculate the power of the test,

der which the correct proportion is p = 0350 against H,: p =

note:Zg.025=1 .96, Zp0s=1.645

85y 2

The milk praduction of five cows was measured twice: once after they had been fed by a product
we shall call Food 1,

and once after they had been fad by a product we shall call Food 2. The
results {in gallens) are ag fo[?ows:

Cow Foad } Food 2
1 2 2.5
2 3 3.0
3 1 1.5
4 2 2.0
5 3 20

Assuming a norma) distribution of the milk production and that t
same in both samples, construct a 99

production, where ., is the mean for

he standard deviation is the
Percent confidence interval far the difference in the mean
Food I and g, is the mean for Food 2.

nOtCSZ0‘095=2.576, T0_005‘3=3.3355, To_()s,g:l .86, To,025_3=2.306

A large company em i
ees low-cost life insu

workers, and salespeople has shown the followi

Preference
Pa Life

Emplovees raise iRsuraice Indifferent
Administrators 15 20 10
Production 18 30 i3

workers
Salespeople 25 45

3 [2

Test the hypothesis that the preference for life insurance or
classification: in other wards, the prefe

Pay raise is independent of the job
production workers and the salespeople

rence of the administrators is the same as that of the
Usea = 003,

note: ;{im,d =13.277, X5019=21.666
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The Dow Jones Industrial Average is one of the most widely quoted stack market indexes. This
index is based on a sample of 30 industrial stocks, the so-called Dow Jones InquSLrials (DJI),
and the average is arrived at by adding up the prices of the 30 stocks and dividing the total
by the so-called Dow Jones divisor to obtain an average stock price adjusted for past stock
splits and stock dividends. )

A similar method is used to calculate the earnings on the Dow Jones Industrial Awl:rag'ei the
reporied quarterly eamings per share for the 30 DT stocks are added up and the surm is qued
by the DIT divisor. The result reflects average earnings per share adjusted for the cumulative
effect of stock splits and stock dividends. The foliowing table gives the quarterly earnings on
DII average for the period 1975-81.

NS EES

Quarter /981 1980 1979 1978 1977 1976 1975
Ist 31.40 29.66 3335 22.04 21.91 23.12 16.91
2nd 35.49 30.18 34,55 29.66 27.52 25.?5 17.04
3rd 23.26 28.85 33.67 26,40 16.18 23.530 18.37
4th 23.56 3317 22.89 34.6% 2349 2425 23.34

Total 113.71 121.86 124.46 112,79 89.10 96.72 75.66
Source: Barron's, August 2, 1982. Reprinted by permission of Barron's, © Dow Joncs & Company, Inc., 1982, Ail rights
reserved.

A glance at the earnings table reveals that second- and fourth-quarter earnings are often higl:wr
than first- and third-quarter earnings. This may be due to the effect of seasonal s_hoppmg
patterns. Use one-way ANOVA to check whether a seasonal pattern is statistically significant.

note:Fo053,674.76, Fo0s.63=8.94

A realtor assesses the value of properties in Chicago. A sample of 10 Property iransactions
showed the following prices and assessment values {in thousands of dollars):

Selling price {¥) Assessed value (X)
$60.5 $55.0
70.5 65.0
85.0 80.0
90.4 85.0
253 22.0
120.8 115.0
1904 170.0
250.1 240.0
60.9 55.0
80.0 75.0

(a) Compute the least-squares regression, using the selling price as the dependent variable
and the assessed value as the independent variable.

(b} Use o = 0.05 to test the null hypothesis Hy: B, = 1 against the alternative hypothesis
,: 8, > 1. What is your interpretation of the test regults?

{c) Suppose the data were obtained in a period of rising real estate prices, and you know
that the assessment values were obtained abou: one year before the actual sale, Would
these Facts lead you 1o change your interpretation of the regression resuits? Explain.

(d) Construct a 95 percent confidence interval for the mean response and a 95 percent pre-
diction interval for an individual observation atX = 3150. Explain the meaning of these
intervals. Which interval is wider? Why? '

note:To gs,5=1.86, To2s5=2.306, To.0s16=1.812, Ty 025, 16~2.228
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The inflation 2nd unemployment rates in six Western countries in 1984 were as follaws:

i Cotory Inflation Unemplovinen
i 10.1% 2.1%
2 8.5 6.1
3 12.0 4.1
4 0.2 12.0
5 22.1 2.0
6 351 0.

(2) Calculate the Spearman (r,) and Kendall (7) rank correlation coefficients.
{(E) Test the null hypothesis that the Spearman rank correlation is equal o zero against the
X alternative hypothesis that it differs from zero. Use « = .10,

{c) Repeat part b for the Kendall rank correlation. What is the interpretation of the tes: N
resuits?

note: the critical value of the Spearman rank correlation with n=6 and significance

level 0.01 is equal to 0.943. To solve part(c), you can use the information of
1 Zops=1.645




